

Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
April 20, 2023	Name of Event	School Food Carts - Salad Bar Announcement	
	Location of Event	Elmsdale, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	400 km	\$ 230.80
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 245.80



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
(MOIIIII, Day, Teal)	Subject (by Event)	Atlantic Standardbred Breeders'	CUSI
April 22, 2023	Name of Event	Assciation AGM	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	240 km	\$ 138.48
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 153.48



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
April 23, 2023	Name of Event	Saltscapes Event	0031
7 (5111 20) 2020	Location of Event	Halifax, NS	
	Air Destination - (From-To-Return)	•	
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	240 km	\$ 138.48
	Parking Rate		
	Taxi Rate	<u> </u>	
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 158.48



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
May 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
, ,			CUSI
June 6, 2023	Name of Event	Farm tours	
	Location of Event	Canning, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	212 km	\$ 122.32
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 142.32



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dotos By Event			
Dates By Event	Subject (By Event)	lufo um eti o u	04
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 21-22, 2023	Name of Event	Hort NS event	
	Location of Event	Berwick	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	Old Orchard Inn, Wolfville	
	Hotel Rate Per Night x Number of Nights	\$194.35	\$ 194.35
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Supper per diem	\$ 20.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	335 km	\$ 193.30
	Mileage Rate - (\$0.5770)	335 km	\$ 193.30
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 620.94



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 26, 2023	Name of Event	Shelburne Town Hall	
	Location of Event	Shelburne, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	946 km	\$ 545.84
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 580.84



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 29, 2023	Name of Event	NSDA Nappan Office Opening	
	Location of Event	Nappan, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	494 km	\$ 285.04
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 320.04



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

D (D E ()			
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
July 18-21, 2023	Name of Event	FPT Meeting	
	Location of Event	Fredericton, NB	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	Hilton Garden Inn, Fredericton	
	Hotel Rate Per Night x Number of Nights	\$228.01 X 3	\$ 684.03
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	483 km	\$ 278.69
	Mileage Rate - (\$0.5770)	483 km	\$ 278.69
	Business Meal(s)	Supper per diem	\$ 20.00
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 1,296.41



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
July 27, 2023	Name of Event	Multi Purpose Pavillion Event	
• • • • • • • • • • • • • • • • • • •	Location of Event	Bible Hill, NS	
	Air Destination - (From-To-Return)	,	
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	196 km	\$ 113.09
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 128.09



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Coot
, ,	Subject (By Event)	iniormation	Cost
July 28, 2023	Name of Event	Farm Visists	
	Location of Event	Aylesford, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	265 km	\$ 152.91
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 167.91



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
August 1, 2023	Name of Event	Farm Visits	0001
J	Location of Event	North Sydney, Inverness	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Dinner per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	317 KM	\$ 182.91
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 217.91



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
August 8, 2023	Name of Event	NSFA Town Hall	•	CUSI
August 6, 2023				
	Location of Event	Brooklyn		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Business Meal(s)	Dinner per diem	\$	20.00
	Mileage Rate - (\$0.5770)	121 KM	\$	69.82
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	89.82



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
, ,	Name of Event	NSFA Town Hall	 CUSI
August 9, 2023			
	Location of Event	Brooklyn	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Business Meal(s)	Dinner per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	135 KM	\$ 77.90
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 97.90



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Outlinet (Bu France)	l	2 1
(Month, Day, Year)	Subject (By Event)	Information	Cost
August 17, 2023	Name of Event	Farm tours	
	Location of Event	Canning, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Dinner per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	171 KM	\$ 98.67
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 133.67



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
,	· · · · · · · · · · · · · · · · · · ·		COSL
August 18, 2023	Name of Event	GGANS field day & Youth meeting	
	Location of Event	Wolfville, Truro	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Breakfast per diem	\$ 8.00
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	333 KM	\$ 192.14
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 215.14



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Subject (By Frent)	Information	04
(Month, Day, Year)	Subject (By Event)	Information	Cost
August 23, 2023	Name of Event	Provincial Exhibition	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Business Meal(s)	Dinner per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	279 KM	\$ 160.98
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 180.98



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Coot
,	Subject (By Event)		Cost
August 28, 2023	Name of Event	ECC Announcement	
	Location of Event	Sherbrooke, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	160KM	\$ 92.32
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 107.32



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
September 1, 2023	Name of Event	MRT Announcement	
	Location of Event	Guysborough, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	74 KM	\$ 42.70
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 42.70



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
,	Name of Event	ENSE Visit	<u> </u>	CUSI
September 1, 2023				
	Location of Event	Antigonish, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	60 KM	\$	34.62
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			•
		TOTAL PER EVENT	\$	49.62



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
September 27, 2023	Name of Event	Farm Loan Board Tours	
-	Location of Event	Great Village, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	342 KM	\$ 197.33
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 217.33



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Subject (By Event)	Information	Coot
(Month, Day, Year)	Subject (By Event)		Cost
October 5, 2023	Name of Event	Farm Visits	
	Location of Event	Weymouth, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	Bayside Inn, Digby, NS	
	Hotel Rate Per Night x Number of Nights	139.15 x 1	\$ 139.15
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	516 KM	\$ 297.73
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 471.88



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

			1	
Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information		Cost
October 7-9, 2023	Name of Event	ABC Weekend		
	Location of Event	Charlottetown, PE		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location	The Holman Grand, Charlottetown		
	Hotel Rate Per Night x Number of Nights	2 x 196.63	\$	393.26
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Breakfast per diem	\$	8.00
	Business Meal(s)	Lunch per diem	\$	15.00
	Business Meal(s)	Supper per diem	\$	20.00
	Business Meal(s)	Breakfast per diem	\$	8.00
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	158 KM	\$	91.17
	Mileage Rate - (\$0.5770)	158 KM	\$	91.17
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Northumberland Ferry	\$	96.00
		TOTAL PER EVENT	\$	737.59



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
November 4 & 5, 2023	Name of Event	Cdn Ag Hall of Fame	
	Location of Event	Charlottetown, PE	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	Delta Hotel	
	Hotel Rate Per Night x Number of Nights	2 x 129.94	\$ 259.87
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Breakfast per diem	\$ 8.00
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	158 KM	\$ 91.17
	Mileage Rate - (\$0.5770)	158 KM	\$ 91.17
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures	Ticket for event	\$ 150.00
	Other Miscellaneous Expenditures	Northumberland Ferry	\$ 91.00
	_	TOTAL PER EVENT	\$ 706.20



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
			COSL
November 16, 2023	Name of Event	WBPANS AGM	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	284	\$ 163.87
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 178.87



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Datas By Event				
Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	(Cost
November 21, 2023	Name of Event	Farm Visit		
	Location of Event	Antigonish, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	58	\$	33.47
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			•
		TOTAL PER EVENT	\$	48.47



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
November 23, 2023	Name of Event	NSFA AGM	0031
November 23, 2023			
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	189	\$ 109.05
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 124.05



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	2.1.1.2.		
(Month, Day, Year)	Subject (By Event)	Information	Cost
November 29 - Dec 1, 2023	Name of Event	Nova Scotia Tree Lighting & Meetings	
	Location of Event	Boston, MA	
	Air Destination - (From-To-Return)	Halifax-Boston-Return	
	Air Fare Including All Taxes		\$ 1,149.59
	Name of Hotel & Location	Hilton Boston Park Plaza	
	Hotel Rate Per Night x Number of Nights	\$391.65 x 2	\$ 783.30
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Breakfast per diem	\$ 8.00
	Business Meal(s)	Breakfast per diem-Boston	\$ 23.60
	Business Meal(s)	Breakfast per diem-Boston	\$ 23.60
	Business Meal(s)	Lunch per diem - Boston	\$ 23.90
	Business Meal(s)	Lunch per diem - Boston	\$ 23.90
	Business Meal(s)	Dinner per diem - Boston	\$ 58.60
	Mileage Rate - (\$0.5770)	Tracadie-Airport-Return	\$ 243.49
	Parking Rate	Halifax airport	\$ 65.63
	Taxi Rate	Boston	\$ 54.36
	Taxi Rate	Boston	\$ 37.82
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 2,495.79



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
January 11, 2024	Name of Event	Meeting/Farm Tour	
	Location of Event	Old Barns, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	Truro - Old Barns return	\$ 17.89
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 52.89



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
January 18, 2024	Name of Event	NS Beef Launch/Tour	
•	Location of Event	Nappan, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	Truro - Nappan return	\$ 127.52
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 162.52



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
January 22 - 24, 2024	Name of Event	Atlantic Minister's meeting/farm tour	
	Location of Event	Charlottetown, PE	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	The Great George, Charlottetown	
	Hotel Rate Per Night x Number of Nights	\$188.34 x 2	\$ 376.68
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Business Meal(s)	Supper per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	Truro - Charlottetown return	\$ 271.77
	Mileage Rate - (\$0.5770)	Borden - New Annan return	\$ 29.43
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 732.87



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
February 7, 2024	Name of Event	Farm Visit		0031
	Location of Event	Guysborough, NS		
	Air Destination - (From-To-Return)	, , ,	1	
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	Tracadie-Guysborough return	\$	41.54
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	56.54



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
February 12, 2024	Name of Event	FPT Meeting	 0031
1 ebiuary 12, 2024	Location of Event	J	
	Location of Event	Guysborough, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	Tracadie-Guysborough return	\$ 41.54
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 56.54



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
February 24, 2024	Name of Event	Beekeepers AGM	0031
1 001441 4 11, 2021	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)	,	
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	Tracadie-Truro return	\$ 163.87
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 178.87



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event						
(Month, Day, Year)	Subject (By Event)	Information		Cost		
February 29, 2024	Name of Event	Climate Change Forum				
	Location of Event	Truro, NS				
	Air Destination - (From-To-Return)					
	Air Fare Including All Taxes					
	Name of Hotel & Location					
	Hotel Rate Per Night x Number of Nights					
	Hotel Incidentials - (\$5.00 per night)					
	Business Meal(s)					
	Mileage Rate - (\$0.5770)	Halifax-Truro return	\$	107.90		
	Parking Rate					
	Taxi Rate					
	Other Miscellaneous Expenditures					
		TOTAL PER EVENT	\$	107.90		



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
March 1, 2024	Name of Event	Farmer's Market Visit	
maron 1, 2024	Location of Event	Antigonish, NS	
	Air Destination - (From-To-Return)	, , , , , , , , , , , , , , , , , , ,	
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 15.00



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
Dates By Event	Cubic at (Du Frant)	linfo man att a m		0 4
(Month, Day, Year)	Subject (By Event)	Information	(Cost
March 4, 2024	Name of Event	Canadian Agriculture Literacy		
	Location of Event	Guysborough, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	Tracadie-Guysborough return	\$	43.85
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			•
		TOTAL PER EVENT	\$	58.85